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Deutsche Geschichte und Kultur

Hinweis: Mit den folgenden 10 Fragen werden Thre Kenntnisse Im Bereich ,,Deutsche
Geschichte und Kultur* gepriift. Lesen Sie bitte sorgfiltig die Fragen und entscheiden

Sie sich dann fiir die richtigen Antworten!

51 i léste 1914 die Julikrise aus, die zam Ersten Weltkrieg fiithrte.

1) Der Angriff Deutschland auf Polen

2) Die Besatzung Frankreichs durch das Zweite Reich

3) Die Ermordung des Osterreichischen Thronfolgers in Sarajevo

4) Die Emmischung des zweiten Reichs in die inneren Angelegenheiten Eng}ahds
52- Welches von vier folgenden deutschsprachigen Lindern wird als Ldnd &ﬁ?\ Bé\l%;

bezeichnet?
1) Schweiz 2) Osterreich 3) Deutsch A gj\ﬁ\u‘@{éﬁlbuw
53- Deutschland ist ein Rechisstaat. Damit versteht man F él%,n es X\ ,,4,;.“:’.“ ......... .

1) Der Staat muss sich an die Gesetze halten f, m o \
2) Alle Einwohner und Einwohnerinnen miissen }?r\an es esetze halten

3) Alle Einwohner und Einwohnerinnen sind dg alggesetz unterworfen
4) Alle Einwohner und Emwohner;nnep un/d\d?ﬁz; “fniissen sich an die Gesetze
halten ;

1) Volker, hort die Signale Adn 2) Deutschland einig Vaterland
3) Freude schéner thterturgkén eg x“' \ ; 4) Einigkeit und Recht und Freiheit
55- Wenn das Parlamegﬁt emes’ é;!eéu en Bundesiandes gewithlt wird, nennt man das

54- Mit welchen Worten beginnt die deutseh\é{}l ﬁi};)nalhymneQ

.................... _y
D Landtagswahi ?\Wj 2) Bundestagswahl
3) Kommuna """" 4) Bundeslandwahl

56- Der St' %millert in Peutschland aus diesemm Grund das Schulwesen,

1 w
D\W?\i §?Mach dem Grundgesetz seine Aufgabe ist
w /8 in den Bundeslindern nur staatliche Schulen gibt
\3\)4?6&6}1 es in den Bundesldndern verschiedene Schularten gibt
L »4f weil alle Schitler und Schiilerinnen einen Schulabschluss haben miissen
57- Die beiden grofiten Fraktionen im Deutschen Bundestag heifien zur Zeit .....ooovvvne .
1) FDP und SPD
2) Die Linke und FDP
3) CDU/CSU und SPD
4) Die Linke und Biindnis 90/Die Griinen

58- Welche Aufgabe hat der deutsche Bundespriisident/ die deutsche Bundesprisidentin?
Er/Sie covuevviiinnnnnnan. .

1) regiert das Land

2) entwirft die Gesetze

3) repriisentiert das Land

4) iiberwacht die Einhaltung der Gesetze

www Sanjeshs com
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59- Was versteht man unter dem ,,Anschluss* Osterreichs am 12, Mirz 19387
1) Angriff britischer Truppen auf Osterreich
2) Einmarsch deutscher Truppen in Osterreich
3) Anerkennung von Osterreich durch die USA
4) Verletzung der Souverinitit Osterreichs durch sowjetische Truppen
60- Bei welchem Ereignis wurden die heutigen Grenzen der Schweiz festgelegt?

1) Berliner Pakt 2) Romer Vertrige
3) Wiener Kongress 4) Pariser Konferenz
Grammatik

Hinweis: Mit den folgenden 5 Fragen werden Ihre Kenntnisse im Bereich ,,Grammatik*
gepriift. Lesen Sie bitte sorgfiiltig die Fragen und entscheiden Sie sich dann fiir ;h\e

richtigen Antworten! o w\ \J

61- Vorgangspassiv des Satzes ,,Die Polizei hatte den Betyng\er ve W 1st nller

Betriiger .....ccovvennnnin . } mmmmm \}}

1) ist verhaftet worden 2) watryer a‘fﬁ Vo

3) wurde verhattet gewesen sein 4) Wﬁr\@ﬁeﬁm ét worden Sem
62- Zustandspassiv des Satzes ,,Die Kinder werde{ gte\ Bi‘lﬁer malen® ist: ,Bunte

Bilder .......ocivvvnnn . A

1) sind gemalt L j,\ “‘12) \zg/érden gemalt sein .

3) sind gemalt gewesen N !\) werden gemalt gewesen sein
63- e habe ich ein Buc M?ﬁx\gm Geburtstag geschenkt.

1) Den neuen Student, A\ L \:;f () 2) Dem neuen Student

3) Den neuen Studa"mteh { ‘fﬁ\ ur\ 4) Dem neuen Studenten
64- Das Femininum von\Aﬁ“ﬁ‘cﬁg e

1) Attachée 2) Nntachem 3) Attachele 4) Attachein
65- Die Pluralfor; n\ T BT SO

1) Konsulm\ \ # “2) Konsule 3) Konsulz 4) Konsula

fﬁ‘x i h\”jﬁ
Wq“k@é@,ﬁ‘”ti”

- T
zg:w@’is Mit den folgenden 5 Fragen werden Ihre Kenntnisse im Bereich ,,Wortschatz®

. berpriift. Lesen Sie bitte sorgfiiltig die Fragen und entscheiden Sie sich dann fiir die
richtigen Antworten!

66- Das Kabinett hat den (das) ................... des sogenannten ,,Energiesammelgesetzes
beschlossen.
1) Rezept 2) Exemplar 3) Experiment 4) Entwurf
07« e bedeutet Scheitern der Politik.
1) Krieg 2) Frieden
3) Pluralismus 4y Interkulturalitit
68~ Freiheit bedeutet unter anderem die (der) .......coeenevana.n. , sich frei und ungehindert zu
bewegen.
1) Zwang 2) MHusion
3) Moglichkeit 4) Zweckmabigkeit

iﬁ%*&%ﬁ»ﬁi&s Q}@)T wyiﬁm @uw &QL Ld}})..t &aﬁkh}
www . Sanieshd .com



Sy
Gt ol £33 el
q axio 201 A {(55L8) = NYY oS
69- Man kann heute eben zugleich Gattin sein und einen Beruf .................... .
1) vergeben 2) ausiiben
3) einnehmen 4) personifizieren
70- Wenn du deine Texte ein bisschen griindlicher durchlesen wiirdest, konntest du viele
Fehler ....cccovcevnnninns .
1) erheben 2) entziffern 3) aussortieren 4y vermeiden
Ut bl b ) Y (U pol Koy 9 01y 3 (o il b
71- Es possible que n0 ...coeeeceneenns (tomar — nosotros) ese taxi, $iNO QUE .cvveverrresennas (comprar)
un beleto para el tren,
1) tomamos, compremaos
2) tomemos, compramos
3) vamos a tomar, vamos a comprar ,: 5
4) hubiéramos tomado, habriamos comprado ‘”\ n f\\\ f
T2 cerveneessrensions no te tomes toda la leche, no saldras a jugar al jardin. ]\ ‘\ \
1) Si 2) Como 3) Aunque__ ,{@ﬁ%ﬁ G
73- Manuel, ;sabes como gquedd el partido de anoche? C} . NI/ e
Niidea,no ....c.covvvvevnnen el periddico. K, g
1) leo 2) lefa 3)Hé emg ) ‘ = 4) habia leido
74- Pero, perdone, usted me habia hecho una pregunt\a \f&gﬁﬁkﬁ
Es un acto de habla:
1) perlocutivo, convencional rj} ffg) =110}Lu\ﬁvo intencional
3) perlocutivo, no convencional g ‘?4Yf1%5cut1v0 intencional
75- Las proposiciones “Juan contmu} *6” ¥ “Si Pedro viene, Juan se marchara”
son por ¢l orden: \\\J
1) locutivo, ﬂocutlvqiw /{ \ \{ \ \f’ 2) sobrentendido, presupuesto
3) perlocutivo, com&é‘m‘: al jw 4) presupuesto, sobrentendido
76- ;Qué es lo mas lmportan’w eii’el modernismo espafiol?

1) Propuso volver a L&S‘“ﬁilores estéticos y filosoficos
2) mimesiy (1 ‘Ktabf de la realidad)
3) Pro}uﬁl‘a ‘IC\)I,?IQ*VaCiOII del lenguaje

f }mée Yeracidad, al retratar campesinos o trabajadores

77- q‘?\qal&g&ek ideal de la lengua literaria renacentista?

etorica y mistica. 2) Naturalidad y mistica.
\\\;33’ Naturalidad y seleccion. 4) Naturalidad y retorica.
78- ;Qué complemento parece un complemento circunstancial de modo, perc es un
adjetivo o participio?
1) Complemento indirecto 2) Complemento directo
3) Ese complemento no existe 4y Complemento predicativo
79- ;Cuiles fueron los primeros textos escritos en castellano y drabe?
1) Jarchas 2) Glosas 3) Ninguno 4} Romances
80- ;Qué caracteriza al Renacimiento?

1) Habia solo escritores clérigos.

2) Que se vuelve a estudiar v leer textos clasicos.

3) La abundancia de exotismo en las obras espafiolas.

4) Que es la época que hay entre la Edad Moderna y Edad Contemporanea.

L olTiuls ¢y go 3T ¥ g a3 i Tl 5257 sels
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Lee atentamente cada parrafo y marca la alternativa correcta

El lenguaje permite actividades en un amplisimo aspecto. Si la meta de la educacion
es capacitar a los individuos para que lleguen a ser pensadores o comunicadores y
criticos, tenemos que ayudar a los alumnos a usar el lenguaje como herramienta de
transformacion sobre ¢l conocimiento v la experiencia, a poder comprender y también
a expresar. De aqui que creemos la lectura, el habla y la escritura son elementos tan
estrechamente ligados que ninguno de ellos deben ser desvinculados de los otros, v
menos en la etapa que nos ocupa. Integrar la lectura y la escritura implicaensenar las
dos disciplinas en forma correlacionada, ayudando a los alumnos a determinar cuales
son las relaciones entre una v otra. Ensenar a los alumnos a escribir (planificar,
componer, releer y reestructurar) contribuye a mejorar su comprension lectura hagiendo

mas conscientes de como los autorres organizan sus ideas; cuando mas aﬁ?;e\ a

escribir y a organizar sus propios pensamientos, mas sencibles seranffaﬂ\é;();lﬁprénder

como otras personas pueden hacerlo. e 7~ Sk\)}””’ IV

f};/m \XL\} E\\\w_wlj}fm‘w 4

81- Herramienta v, afff‘"\ ‘L?wj

1) Medio 2) Elemento 3 Ins%xm\ent\\ ) /7 4) Mecanismo
82- Desvinculado h Ve

1) Desatado 2) Separado f)ﬁs\a\ég tilado 4} Segmentado
83- Implica 3:; fﬂ i ) )

1) Supone 2) Propone § \ é)/ feconiza 4) Propicia

84- Segun el fragmento el objetivo dc;n!;a‘éd aémn es:
1) Formar personas reﬂexwagx cap\a &s ﬁﬂé comunicarse creativa y criticamente.
2) Considerar ¢l lengu u e fﬂo\g\]@} herrafﬁlenta para transformar el conocimiento
3) No desvincular Eé&é‘fem\g}ﬂﬁﬁ/ que conforman el lenguaje.
4) Ayudar a los alurm}ps in &1 uso eficiente del lenguaje.
85- Segiin el emisg; aﬁkﬁf?&gmento el lenguaje constituye un(a):
1) Conjuntd, ﬁvadades de amplio espectro.
2) Ayﬁ \Wiw%a” actitud creativa de los individuos.
¢10n permanente entre lectura y escritura.
\4.j er;;arhlenta de transformacion, comprension y expresion.
%3\ Jpodrla decir que estos grandes logroes, junto con ¢l control de los esfinteres,

\\w I e una frontera entre dos etapas de la vida.
1) marcan 2) estan 3) describen 4) planifican
87- en la oracion: El hombre moderno se buseca a si mismo. Sees c.ooooveiiinnaii.
1) retlexive 2) objeto directo 3) reciproca 4) voz pasiva

88- El que él estudiase el bachillerato en la ciudad podia ser, a Ia larga, efectivamente
un progreso. Es una proposicion:
I} incluida sustantiva 2) incluida causal
3) incluida adjetiva 4) incluida adverbial
89- Qué proveco la caida del imperio de Portugal en Brasil?
1) Persecuctones religiosos
2) Crisis econdémico
3) debilidad de los diferentes emperadores
4) Falta de una navegacion maritimo adecuado

L eluls wﬁ“ﬁﬂ bl gan 83 503 3l 1y 03 gni,:;
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90- ;Cual fue ¢l motivo del tratado de Paris de 19897
1) dio por finalizada la guerra hispano-estadounidense
2) Anexar a Puerto Rico a EE.UU como un territorio independiente
3) Ayuda econdmica y financiera de los EE.UU a los paises América Latina
4) Establecer un vinculo de comercio libre entre espafia y los paises América latina

gt b5

Reading Comprehension

PASSAGE 1: (w\ \U‘
Gaul was divided into several different provinces. The Romafis, \d x&aced
populations to prevent local identities from becoming a threat o O{\jﬁﬁﬁ\comrol

Thus, many Celts were displaced in Aquitania or werg; en\s\}a\re ‘a\nd/méved out of
Gaul. There was a strong cultural evolution in Gaul 111“}(51&,?;ﬁ:theR man Empire, the
most obvious one being the replacement of the a‘u},;sp 1§nguage by Vulgar Latin.

It has been argued the similarities between th @a@h&i and Latin languages
favoured the transition. Gaul remained undet. Ha\Ii control for centuries and
Celtic culture was then gradually repi"a«he B ﬁg o-Roman culture.

A migration of Celts occurred in thé ée;ﬂtury in Armorica. They were led by
the legendary king Conan Merlad,éc ab &ame from Britain. They spoke the now
extinet British lang%e wh"Q(} %\\jvé@] jinto the Breton, Cornish, and Welsh
languages.

In 418 the Aqul gggvmce was given to the Celts in exchange for their
support against.-the \v{aﬂdais Those same Celts had sacked Rome in 410 and
established afé\g@m}u}l Toulouse.

I- To pr %(/\\/;OQ{{ identities from becoming a threat to Roman centrol, ................ .
&rﬁé compelled populations to leave Gaul
f\& i\ ﬂ’ was divided into several provinces
fthe Celts were forced to slave frade
e 4) Aquitania was captured by Romans
92. Replacing the Gaulish language by Vulgar Latin ...................... .
1) introduced Latin languages to the Celts
2) made Gallo-Roman culture remain in Gaul
3) was considered the most favorite transition
4) was the most noticeable cultural revolution occurring in Gaul
93- All of the following, according to paragraph 2, are True about Migration of Celts
EXCEPT vvviiiiiniinnnenee
1) it happened under leadmg of king Conan Meriadoc
2) it made an extinct British language evolve
3) it occurred before 5th century
4) it took place in Armorica

g—%ﬁ%ﬂx&u%& ;M}’gmaj"%' m&ﬂgw t’bw W{:;fi_t L}':‘)‘J &QL&.
www Sanieshd .com



m;g,ﬁ o rg.3% o
WY asio 201 A {(5aL) = YV oS
94- The word “sacked” in the last paragraph is closest in meaning to .......oevvvinvvenenns .
1) advanced 2) threatened 3) modernized 4} destroyed
95- The writer of this passage wants €0 .......covvveiiiinenn. .

1) persuade the students to study Roman history

2) represent the development of some Latin languages

3) provide readers with an introduction about the Celts

4) prove that the Gauls were a group of British people not Roman

PASSAGE 2:

In 1498, a Portuguese fleet under Vasco da Gama discovered a new sea route from
Europe to India, which paved the way for direct Indo-European commerce. The
Portuguese soon set up trading posts in Velha Goa, Damaon, Dio Island, and
Bombay. After their conquest in Goa, the Portuguese instituted t}:}é} \Ciq}a
Inquisition, where new Indian converts were punished for suspected here(s %\ ainst
Christianity and non-Christians were condemned for dzscodfh if 0s¢
considering conversion or for convincing others to repounce éhﬁzsnlémty Goa
remained the main Portuguese territory until it was a eX‘aﬂ by }*1 A Tn 1961.

The next to arrive were the Dutch, with tb&: mat }s&,,m Ceylon. They
established ports in Malabar. However, their expam\@@h into/ India was halted after
their defeat in the Battle of Colachel by the \%\G\tﬁf"f Travancore during the
Travancore-Dutch War. The Dutch ne\{er re{;o om the defeat and no longer
posed a large colonial threat to India. " [}/ f

The internal conflicts among, {nd \mmk}ﬁgdoms gave opportunities to the
European traders to gradually, aﬁfﬁ%h#h qlmcai influence and appropriate lands.
Following the Dutchthe %rit F;Jy’wﬁo ot up in the west coast port of Surat in
1619—and the Frem\&hbptteﬁ@ﬁmhed trading outposts in India. Although these
continental European” p@ﬁ\?e 5’ controlled various coastal regions of southern and
eastern India during ﬂﬁ_@m@nsumg century, they eventually lost all their territories in
India to thexglﬁ\ hi ‘With the exception of the French outposts of Pondicherry and
Chanclﬁrﬁa\g&% snd the Portuguese colonies of Goa, Daman and Diu.

W‘\&\l ggﬁtence, according to the passage, is True about Goa?
ﬁ\l“} rwas a Portuguese colony until 1961.
\ VIt was the only center of direct Indo-European commerce.
e 3) It was the place of punishing people rejecting anti-religion ideas.
4) It was taken back in the second half of the 19th century by India.

97- The word “annexed” in paragraph 1 is closest in meaning to .............ccoeenit .
1) protected 2) left out 3) taken over 4} divided
98- The Dutch, as stated in paragraph 2, .......ccoviviivnnnnns .

I) have never been a large colonial threat to India

2) chose Ceylon as thetr main center in India

3) defeated India in the Battle of Colachel

4) expanded their territory into India after the Travancore-Dutch War
99- Ttis referred to in the passage that ...........coonvniees

1) there were various dynasties and monarchs in Indza

2) India was only an important trading center for Europeans

3) European powers created opportunities for Indian traders

4) the British lost all territories in India to the French and the Portuguese

L olfiaals i_}%m;ﬁ{ wﬁgﬁm &}w an,_{;}b %.}‘})J rﬂ.{;t‘a
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100-

101-

British and French powers, based on information given in the passage, controlled

the coastal regions of southern and eastern India ............... ...l .
1) during 17 century 2)in 16 century

3) during the ensuing century 4y during 18 century
PASSAGE 3:

The Black Death, an epidemic of bubonic plague that spread all over Europe. arrived
in England in 1348 and killed as much as a third to half the population. Military
contlicts during this period were usually with domestic neighbors such as the Welsh,
Irish, and Scots, and included the Hundred Years' War against the French and their
Scottish allies. Notable English victories in the Hundred Years' War included Crecy
and Agincourt. The final defeat of the uprising led by the Welsh prince, Owain
Glyndwr, in 1412 by Prince Henry (who later became Henry V) represents,l;b@ %’t
major armed attempt by the Welsh to throw off English rule.

Edward Il gave land to powerful noble families, including many ﬁﬁp e%f roval
lincage. Because land was equivalent to power, these p 1 me; ooy fy fo claim
the crown. When Edward I1I died in 1376, he was succeq& by his ﬁahdJ Son, Richard
1. Richard’s autocratic and arrogant methods 011}3&\ sei’ved»\ a"l"iﬁenate the nobility
more, and his forceful dispossession in 1399 by e@gy AV increased the turmoil.
Henry spent much of his reign defending hu@sé\ﬁ aéamst plots, rebellions and
assassination attempts. =y

Rebellions continued throughout the ;ﬁ\rstt( IEI}E years of Henry’s reign, including the
revolt of Owain Glyndwr, who declar Qh}nﬁéli Prince of Wales in 1400, and the
rebellion of Henry Percy, Ist E aﬂ\ Né@rﬂmmbeﬂand The king’s success in putting
down these rebelliongwas dg:%\ Ml‘g{\m thé{g,hlhtary ability ot his eldest son, Henry of
Monmouth, who lat¢ i’xh@\cam‘c}g >(though the son managed to seize much effective
power from his father IWMT@}“

A
The Black De{’/\th m‘bﬁrdfng to the passage, .....oocvviriniininnns

I) was a"dise@s@ihat struck Furope in the mid- 14th century
2) kille k\i\@@reﬂh&n half of people around Europe
%3\ éé&@;‘éﬁ series of military conflicts in Europe

d from England to Europe in 1348

1@2& X\l’} of the following, according to the passage, are True about the Welsh EXCEPT

103-

104-

105-

;.\_w

---------------

i) they are one of England's domestic neighbors

2) they helped England in the Hundred Years” War
3) they tried to get rid of English rule

4) they had military conflicts with England in 13%

Richard 11, as stated in paragraph 2, .......c..cooniiiiins

1) served to prove nobility 2) gave lands to powerful people
3) was a dictator and proud king 4) tried to claim the crown

The word “turmeoil” in paragraph 2 is similar in meaning to .............ocoviiiee .
1) poverty 2) violence 3) fear 4) despair
Henry could succeed to put down the rebellions ...................... .

1) because of his experiences in his ten years of reign
2) for his management in seizing more power

3) due to his great military strategies

4) by assistance of his eldest son

iﬁ% @&mi\} ;‘_}}.@yg"{ m:}alg}am 43};@ »mi":éig &}J}m éx@ha
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106-

107-

108-

109-

110-

111-

{

R
(N

U
1127

113-

114-

gl b ) Ll po Ko ps 5 20, U

Battle of Largs occurred .....cocovnvniininnnns

1) between the kingdoms of Norway and Scotland

2) under William 11 resulted in the Scottish victory

3) on 2 October 1363 on the Firth of Clyde near Largs, Scotland

4) as a testament to the resilience and strategic acumen of the Norwegian forces
Which sentence is NOT true about Roger Bacon?

1) He was interested in natural sciences.

2) He advocated the Scholastic method of argument.

3) He considered experiment to be the door to knowledge.

4) He argued that the chief causes of error were ignorance of languages.

During the time of Edward IH (1327-1377), cecvveevriiiirnnnnnnn. .

1) England defeated France at the Battle of Bannockburn ~

2) the workers consolidated their position in the parliament é\m (\\ Vi
3) the representative institution was established to provide the mon? \

4) parliament had finally become organized in two parts: Lord \r;\rﬁ()ns
The literary life of Elizabeth I's reign was dxstmguls@éﬂ \‘by aﬁlk of/ rthe following
EXCEPT .ccviviiiiniiininnn P A

)
1) Edmund Spenser 2) Clmﬁ hermf‘lowe
3) Thomas Malory 43 Wllf‘izi(n ﬁﬁzﬂ{espeare
“The Act of Settlement” ......ocoviiiiiiinnns i\\\”'

1) was passed in 1710 agreed by Will 1“éim “5:1
2) confirmed the independence of the qfl ) ngiand from Roman Catholicism
3) was designed to secure the Protésta# i’:(:’essmn to the English and Irish throne

4) strengthened the guaranﬁ:asﬁ fgsurmg the parliamentary systems of
government - ’f’ \ Y ,\y
The correct order oi'\gvengs\h Stuart Britain is .cooevvveveeannennnn.

the Long parliament — Charles 1 Surrendered to the
Scots — 2™ citil war"

2) start of Ahi \t@ﬁgi)arizment ~ war with France — 2™ civil war — Charles I
surrerf réd 16'the Scots

3) 2 m%j “vat — war with France — Charles I surrendered to the Scot — start of the

%\\L “parliament

), Eharles 1 surrendered to the Scots — 2" civil war - start of the Long parliament —

~~war with France

Which of the following Prime Ministers did not belong to Labor party?
1) Clement Attlee 2) Edward Heath

3) Gordon Brown 4) Harold Wilson

The hero of the Battle of Trafalgar was ................coceit .

1) Admiral Pierre-Charles de Villeneuve

2) Admiral Horatio Nelson

3) Napoleon Bonaparte

4) Vice-Admiral Frangois-Paul Brueys d’Aigalliers

Plaid Cymru is a political party that ...................... .

1) has sought self-government for Wales

2) has lowered the voting age to 16 years old in Wales

3) holds three of 60 Welsh seats in the UK Parliament

4) contributes to the protection of Welsh biological environment

i-@) Qi,g:mmjgé} g__}g,m[}ﬁg w:&gw C’ww t_.,i.‘ii.,ﬁ &;}IEJJ {‘S.E:QL"_&
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115-

116-

117-

118-

119-

120-

121-

122-

123-

The Good Friday Agreement ......ooevvivinninenns

1) also known as the “Belfast Agreement™ was Slgned on April 10th, 1988

2) was categorically rejected by the people of Northern Ireland

3) aimed to end religious tensions between Catholics and protestants in Ireland

4) created a devolved power-sharing government in Northern Ireland

Oswald Mosley .....oovveviiiiinann..

1) was a famous British staiesman soldier, and writer

2) was the leader of two British fascist groups for 40 years

3) developed a new economic proposal to save the United Kingdom

4) committed himself to studying what he called traditional movement

Which one is NOT the role of the opposition party leading the political environment?

1) To contribute to the policies of the majority party by offering constructive criticisim

2) To propose their own policies to appeal to voters with the following election i 1r1 mlnd

3) To try to gain the most seats in parliament , \m \ )

4) To oppose policies they disagree with h
PT

All of the following are features of British Neoclassical Archxtecﬁﬁqjﬁ
---------------------- ’ f \: \w;

b luxurious mterlor and plain exterior 2) Bare an{f fﬂ@ n Wal}s.f
3) Use of basic geometric shapes 4) Str; ight\‘én@ ‘‘‘‘‘ egtzgai Tines
Which one is NOT true about Theresa May? L f*\ J )/
1) She was the leader of the Conservative Party fro 1{11\ J16'to 2019.
2) She was the UK’s second temale pmme mlﬁ}s& aftér Margaret Thatcher.
3) She began the process of Wlthdram itfﬁl ;K,from the EU in March 2016.
4) She was the first woman to hoi(;tw; é\ fi¢/Great Offices of State.
Which sentence did not happen oty }@?‘ er the 61" 20222
1) Queen Elizabeth },{/Lﬁ plapi un\ﬁ j\uhﬁe N
2) Liz Truss becaméthe U" ﬁ\\fJﬁ"‘lme Mm;istcr
3) Liz Truss resigne a‘;mwh Prime Minister
4) Death of E h%a\bethfﬂ P
AN }T”“ Mgty b ) dpwgy) Sty g Py g sy s Uj

WY

A I{ﬁﬁh@aﬂxa PYCEKOro A3bIKA:
s e

Kyua: B kaxycoom eonpoce gvibepume npacuibHulll 6ApUAHIL

B kaxoM uHCIATEILHOM HA MeCTe HpouycKa e HHUICTCH b?

1) cem(...)necar 2) nesr(...)cor

3) neBs(... JHAAATE 4y nar(... ) necar

Koraa JleHa HO€JeT B HEHTP, OHA ovvviirrnrasnrisnrans Ho UyTH Tebe KIIOUH.

1) 3aBesér 2) yBe3€ET 3) oTBE3ET 4) nonBe3ér

B KOMHCCHH CHIE/H YBAKACMBIC .oevniviiiinrianinnean JHOM: KANIHARTHL U AOKTOpa
HAYK.

1) Bcemu 2) Bcex 3) 060 Beex 4) Bee

www Sanieshl com
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124- Dopojaa, KOTOPBLIH H300PKEH B YTOM POMAHE, «vvnerieiirerrirnannens HET.
1) Ha camom Jiee 2) B cCaMOM Jiene
3) neHCTBUTEIILHO 4) neicTBUTEIIBHOCTh

125- Vkamure BEMECTBEHHOE CYIIECTRHTEILHOE,
1) BHEMaHuE 2) puila 3) BO3AYX 4) Oenzun

126- B xakom BapuanrTe numercs ojqaa Oyxea H.

1) BBICKOUHII HEOKH/IA..0 2) npuOaKalcs MeUIE..0
3) cMOTpen uenyra..o 4) cmesics JOOPOIVIIL..O
127- f ToabKo codpanach HOHTH B KHHOTCATP, vveecvrerrrsarroeresane $uIabM ViKe BBIUIET H3
HpOKAaTa.
b)a 2u 3)iaawm 4yxora
5'( df\ k \;Pf
AN N
ALV
B.P . ANY AV
. Pyeckas ucropusi H KyJabTypa: o~ { \\Q Jnd

128- Kak d¢ammima pycckore ydéHoro, OHHOE‘/{}\ é\césna’reneﬂ MocKoBCKOTO
YHHBepcuTeTa? ) {\ J

1)yI. ’Kykos t»”" ( {Z)/f"@JCyBOpOB
3) M. Jlomonocor A‘{f'ﬂ\\ ; }\ 4§ C. Koposien
\ff N
129- Kax una3piBajica cnoﬁaxoaﬁh&l}a&sﬁépy@koro rocyaapcrea?
1) Koncturyuus \‘f:m ~~~~~~~~ \ \J ]\Wx 2) 3axonsl Pycu
3) Ynoxenue “““””“\}} - 4) Pycckas npagna
e
130- Koraa Pyc oph\w aces H3-HO BaacTi 3ogoroit Opasr?
1)BI4 E:)y{ 2) B 1825 rony
3)131 4)B 1812 rony
13\1 RWE@M&HE{OBE‘H pycckumMu Bokickamu B xoxe bopoannackoit 6uTen?
A CyBopos 2)T'. Kyxkos
> 3) K. Poxoccopckuit 4y M. Kyrty3oB
132- Koraa 6n1a oGpazosan CCCP?
1) B 1905 rogy 2) 8 1922 rogy
3)r 1917 rony 4) 8 1920 rooy
133- Croabxo yestoBexk worudiro B roast Besmroit Orevecrsensoii Boiinbi?
1) 7 mutHonoOR 2) 10 MuIInoHoB
3) 27 MMITIHOHOB 4) 16 MIILIMOHOB

134- Kro ma 3acerasum Tperwbeil ocynapereemuoit lymMnl npomn3nec 3HaAMCHHTYIO
dpa3zy: «BaM Hy:KHBI BeIHKHE HOTPSICEHNs, HaM HYkHa Benuxan Poccusn!»?

D IL A. Cronemun 2) I1. H. Mumoxos
3) Huxoutaii 11 4) Anexcaunp I

in oliisla L}}mﬁgm s a2 éﬁ,‘?ﬂ"’-’ "“’3:*%“% sw}"’a}“j &"‘}i’:&
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135- Koraa «xpenocrnoe npaso» B Poceniickoii nmueprn 0b110 ormeneno?

1) B 1917 roay 2)B 1861 roay
3) B 1603 roay 4) B 1905 rogy
136- Kaxoii npazmk orvedawT B Pocenn 23 deppasin?
1) denp KoncTuTYIHH 2) Jlens 3amuranka OTeUecTRa
3) Jlens HoGenb 4) Jlens ropona MockBbi

137- Yro npomzonuio B Pocerm 25 nexabpu 1825 rona?
1) oTMeHa KpeTioCcTHOTO NIpaBa 2} cBepKEHUE MOHAPXHN
3) BoccTanue 1eKadpUCTOB 4) Benukast OvecTBerHas BoliHa

138- B kakoMm roay npomonuio kpemenne Pyen?
1) B 988 roay 2) 8901 roay 3) B 995 roay 4)B 101 1{{9&%

o

139- Tlpu xaxoM npasire/ie NPpoXoLIa «iepectpoiika» B Pocenn?

I

1) bpexuer 2) Enpnun 3) e g 1 \Q ace
Vi } { \ ) ji;m.m«v'
"
140- B kaxom rojy nponsonuia apapns na ‘Iepnoﬁbmbﬂ\onl‘“A \"\ \\}
1) B 1986 roay 2) B 1982 roay 3) B 9 \{0,&! 4} 8 1992 roay

J;/\ ;
N \;

'\
Partie A: Francais général ~ %\\\},\Wf’

{ é; {
Trouvez la bonne réponse: r'”‘*sjiﬁ\ Ll \?f\\\

141- Trouvez la phrase c{)&:rggte% \\\ Y
1) Je I'ai rencontré aépﬁ@ ing ans.
2) 1is sont partlmu bmwﬁ’une demi-heure.
3) Quand il, aﬁ(f}q fmb*son travail, il est sorti.
4) Le Voi‘eﬁ;f@\p 5 des bijoux, cependant tout le monde dormait.

142- Cette hﬂé@jtmﬁ est délicate, quelque précaution ..oovvveivieennvinns , ¢lle ne réussit pas
 toujours.
,\i R guﬁn en prend 2) qu’oi} en prenne
/que [on prenne 4) que I’on prennes
14 “A quatre-vingt ans, il se levait a sept heures du matin, .......cocevvnnennen, toujours fait.
1) quoiqu’il avait 2) comme s’1l avait
3) ainsi qu’il avait 4) de méme qu’il avait
144- Je n’aime pas du tout ce chanteur, il crie «..ocvvvniennnoninn.
1) avant qu’il chante 2) au lieu qu’ ﬁ chante
3) autant qu’il ne chante 4) plutot qu’il ne chante
145- La route était si glissante qu’il .....coocevvinnnnnni conduire tres prudemment.
1) faut 2) tallait 3) faudrait 4} aurait fallu
146- Parmi tous les romans de Victor Hugo, .....c..oocoiaieit que j'aime moins que les
autres,
1) il y a certains 2) ils en sont certains
3) il en ait quelques-uns 4) il y en a quelques-uns
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147- 11 est évident que ce probléme ....oviiininnnnnn en un jour.

1) ne pourrait régler 2) n’aurait pas pu régler

3) ne peut pas €tre régle 4) ne puisse pas étre réglé

148- Pour le goiiter, j’avais acheté des brioches et des croissants; les enfants

1) ont tout mangé 2) ont tous manges
3) tout ont mangé 4) tous ont mang¢s
149- Trouvez la bonne formulation.
1) Il m’a pris ma main. 2) 1l s”est coupé du doigt.
3) Il €crit a la main gauche. 4) On lut a marché sur le pied.
150- Je suis tout a fait d’accord avec vous, pour autant que .....oovivivenennnnn. vos paroles.
1) j’ai bien compris 2) y’aie bien compris
3) jaurai bien compris 4) j’ai eu bien compris )
ALY
Partie B: Histoire et culture générale francaises fff’m\\ z\x(\ \\L}
Trouvez la bonne réponse: ey '\l}}‘;ﬁi’\; ’
) (O~
151- En France, quand a été créé le conseil departemen@l" g:p u} JW\ N
1) Suite a la crise de mai 1958 i ‘g N L
2) Bien avant la Révolution francgaise ‘} 3 ? }5”
3) Peu apres 1a Révolution frangaise «"k \ \f
z

4) Lors de la premicre guerre mondialy m ; J
152- Qui est le premier fondateur de Ia Fram: 'é f/ =
1) Philippe Auguste /"\ f‘% Louis VII e Jeune
3) Henri de France “\ \J/ ?; ’x4) Frangois 17
153- Le 18 mars 1871, les {‘ﬁi‘rns:e,ﬁﬁsk&ebeﬁen%ontre le gouvernement. C’est le début de
.................. qui é r«ara\’{ i,'sm‘s.
1) la Commune T )) et 2) la Constitution
3)la Restaura oy O 4) la Reconstitution
154- Awusens lar \B&Qpartlsme ..................
1) est Iﬂsﬁ %:‘Vi‘ee par Stendhal dans Le Rouge et Le noir
@s\xu\n &ﬁa’pohthue créé par Louis-Napoléon Bonaparte
3)\&15@;& adhésion a un systéme d’organisation politique héréditaire
\%‘}W‘se‘ a ¢tablir un Etat national a exécutif fort et centralisé mais d’essence
\\) ey repubhcame

155" Une alliance franco-perse a été formée pendant une courte période entre Napoléon

1¢" et Fath Ali Shah contre ...........c....n. entre 1807 a 1809.
) ’Allemagne 2) les Ottomans
3) 'Inde britannique 4) la Russie et la Grande Bretagne
156- La France et les iles proches de I'océan Atlantique, de la Manche et de la mer
Méditerranée constituent ...........c...... ?
1) 'Hexagone 2) la France métropolitaine
3) les pays francophones 4) la France d’outre-mer
157- Les mouvements indépendantistes en France sont constitués des mouvances
politiques dites .......oovnvvrvnnnnen qui cherchent i obtenir 1a sécession ou la séparation
de la France des régions, départements d’outre-mer ou métropolitains.
1) fédéralistes 2) régionalistes
3) nationalistes 4) autonomistes
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158- Quelle religion progressera le plus en France, selon les statistiques, d’ici 20607
1) L’Islam 2) Le judaisme
3) L’indouisme 4} La religion chrétienne
159- La loi Darmanin est un projet de loi francaise sur .......ccoevenens .
1) le mariage
2) Pimmigration
3) la liberté d’expression
4) la protection des données personnelles
160- Les premiers grands textes de lalittérature francaise datent du milien
....... rveserenseesy  Epoque de développement de [Iagriculture et d'expansion
démographique aprés des périodes d'invasions, de chaos politique et d'épidémies.
1) de I’ Antiquité
2) du Moyen Age f
3) de Ia Révolution A j;“*‘;fi\ﬁ
4) de la chute de 'empire romain d’occident p L \\ -
KL,
gl 1 b ‘@"#ﬁ o g g U
PINBN
161- woiviniiiiennne was one of the tactics used by Mahatm: %a\l\ldhlﬁ his struggle against the
British colonialists. v S
1) Sabotage 2) Guertiliawar
3) Armed struggle 9 gﬁ‘&f) QT;AI] isobedience
162- The independence of India coincided wi mg e’ﬁ%abhshment Of ceeniiniiinnen.
1) Nepal 2) Bhutan ;\ f~33” Pakistan 4) Bangladesh
163- Rajiv Gandhi was an lndlim mlster who was assassinated by a
.................. Y \ s \“;:,J
1) Sikh suicide bor bem, ;‘5 5 Al 2) Tamil suicide bomber
3) Muslim suicide bombaﬁ 4) Christian suicide bomber
164- Hindu social strapﬁca"ﬁwﬁ focuses mainlyon ..................
1) social st s N L{“\W} 2) marital status
3) po]ntiml\s g 4) economic status
165- Wh at s, bﬁi est sacred book of Hinduism?
\ rana \a;s; 2} Arthashastra
abharata 4) Rigveda Samhita
13\6@3 o was the last Mughal Emperor in India?
> ’]) Akbar 2) Babur
3) Jahangir 4) Bahadur Shah
167- After the First War of Independence or Indian Rebellion of 1957-1958, India was
directly administered by.......c.c.counees .
1) East India Company
2) the British Government
3) Indian Independent Government
4) Coalition of East India Company and the Mughal Emperor
168- The Hindu Caste system is based on ......oooviivinns
1) education 2) tradition
3) marital ties 4) economic status
169- Inter-Caste marriage in Hinduism is .....oooovenaenee.
1) not allowed 2) aiiowed with couple's consent
3) allowed with parents” consent 4) allowed with the priest’s consent

i&%aimi&h}w; Puadgin 43 e Tk ,‘:}:}X‘#}»E&.ﬂtl}
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170~ ..viiiriineeiens.. i8 the Supreme Cosmic Spirit or god of creation in Hinduism,

1) Shiva 2) Shudra 3) Brahma 4y Hanuman
171- Guru Granth Shahib is the central holy religious seripture of ..................
1) Jainism 2) Sikhism 3) Shaktism 4) Buddhfsm
172- Khan Abdul Ghaffar Khan was a Muslim leader who contributed to ................ .
struggle for independence.
1) India’s 2) Pakistan’s
3) Bangladesh’s 4) East Pakistan’s
173- India’s economy boomed after it adopted ..................
1) socialism 2) protectlomsm
3) economic reforms 4} pro-Soviet policies
174- The first Indo-Pakistan war broke out in .................. .
1) 1947 2) 1956 3) 1962 4) 1973 ~
175- What is the greatest Hindu festival of worship and dance?
1) Holy 2) Diwali 3) Navratri 4 D}grg‘é
oy v
M[UL);&:}’\D&&&K@ﬁYW)ﬁj gl
( o
176- What battle is considered the turning point of the | caQEévalutmn"
1) Battle of Trenton 1 \Sm"atoga
3) Battle of Gettysburg fort Sumter
177- Name the Founding Father who was thﬁ}eé *f)the Sons of Liberty?
1) John Jay i \\ 3 ”john Adams
3) Patrick Henry TAVANE 4) Samuel Adams
178- The main purpose of th Sel;,ee Ea‘ i\s cim&‘phtwn WAS 10 eirninnsnnrancenn .

1) declare the right t’@ vote lfb}\l} en in the Northern states
2) advocate the education \f\Women through establishing all-female colleges
3) assert the rights of women as equals to men morally, socially, and politically
4) demand t h\i}l@x Word women be added to the Declaration of Independence
along (;word men
179- What ‘R} sult of the Montgomery bus boycott?
. )\Tﬂ@ cott uitimately had no effect on changing policies of segregation on
\ \bi}bhc transportation
?l"he Supreme Court ruled that bus segregation rules were unconstitutional and
\\ 7 the boycott was lifted.
3) The African American community in Montgomery eventually purchased and
ran its own private bus company.
4) The local bus companies voluntarily reversed their policies in an effort to bring
back their African American customers.
180- What American foreign policy ultimately led America to be involved in the conflict
between North and South Vietnam?

1) Détente 2} The domino theory
3) The Monroe Doctrine 4) The open door policy
181- Christopher Columbus sailed for the New World on behalf of which European country?
1) Spain 2) Italy
3) England 4) Portugal

iﬂ%ﬁ%éé ;‘_}J’:}.ﬁ’;m{ wyiﬁd\m ﬁ.ﬁw x,,.i.}i.i &«}.}i}.j 5&.@5.:;
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182-

183-

184-

185-

186-

187-

188-

189-

l‘l*a{lL

N\

Which legislation was signed into law in March 2010, aiming to reform the healthcare

system in the United States?

1) Patriot Act

2) No Child Left Behind Act

3) American Recovery and Reinvestment Act

4) Affordable Care Act (ACA) or Obamacare

Why did slavery become prevalent in the southern colonies but not in New England?

1) Southern colonies relied on more labor-intensive cash crops.

2) New England Puritans were more devout than southern colonists.

3) Slaves were taxed at a higher rate in New England and it made less sense to own them.

4) Slaves died in the colder New England weather but thrived in the climate of the
southern colonies.

The belief that the United States is very different from other nations and

special purpose and set of values is called .................... A {”w( \ xﬂ
1) American destiny 2) American soczahsm N L \ y o
3) American capitalism 4) American exceptiggai Sﬁw\\

In the context of race relations, .....iiinnn is the act of separ; “tu}lg 0né5 rac wj m another.
1) Integration 2) Reparations 3) Segreg tion/ )’Assnnﬂaﬂon
Between 1890 and 1905, ................. was the largest’ erseﬁfmz}rkﬁt for the American
Standard Oil Company. \ AW /}F/}

1) Africa 2) Japan 3) ¢ hiné\ fiw 4) Korea

When the Spamsh—Amencan War ende Ame\nTag\gbgkes occupied all of the following
except .. i

1) Cuba ”) Guam ‘\ % /Hawaii 4) Puerto Rico
.................... are a set of state g (]’a ﬁws that allowed whites to treat African
Americans as ‘separate | but egg%l\ I‘X It

1) Reform laws ‘f’(“ i 2) Jim Crow Laws
3) Segregation Iaws\ ~~~~ \ 4) None of these are correct
Why did the Nmeteentﬁ“ﬁm“éhdment have historic consequences for the status of
female rights?, f“”“
DIt prowd@& \ i}}"én} with equal pay.
DIt prqweke‘d\}w\pmen with the right to vote.
3) Itgpxbv\lti@d#women with the right to serve in the military.
,,,,, 1’dcd women with the right to be elected to Congress.

chof the following was NOT a contributor to the Great Depression?

}‘j/ ncreased government regulation of businesses

- ”*2) Careless presidential leadership

3) Rampant speculation
4) Easy credit

U ol ) ol Sy g s U 9 AN b

HAFE X (Japanese Grammar)

191-

BWMIZALZEL, Ny OB LEBETCHWAR ( ) AL,
DIZWEAET DilcEFELT
Nick BT NiTnim - T
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192- PAZRZEbBLE ( y RIE, 5 ELWIETE,

DNHLDIZHI T 2) 2T

HHLLEITLT 4) @y T
193- HRT LIPS T ( )« BRTEWT RN,

DIEMHY LT ) ME LT

NRNnELTYH 4)In e T g
194- KZTHER ( ) A AEBBOERIIABBICREINDIEHT,

DHDLTW2 2y L7= HLEkar2eLiE 4HL &%L?é
195- WiZizb L, BLRBDT, BE ( ) W LBWTLEEY, \\w

DA o 2) BT FR D HEFT L @%ﬁ%
196- HRITXD THAIMBR L7 ( )norbéﬁQ% ﬁ%ﬁf%tw

DAOLIE )R 3) bl “\ny%f<
197- ZD VA P Z k@D ( )N %ibk%ﬁ @?wj

P N 2) & AT ﬁ§ﬁmﬁﬂ_ 4) BAAT

E\\E)_f \\\\\\

198- f&aﬁﬁ?ﬁﬁ@»ﬁ% m& ) HHMLTLE > BhS 5,

1) £ ﬁ&fﬁwf 2) B8 3) Tl 4) JL5¢
199- E\ﬁz:%%%ﬁmk@%#m ( ) ERDLERD S,
ﬁﬁ}aﬁ 2) STk 3) Wik 4) 8
2002 EHEHEORETEEHLL ( ) Lz,

1) Ik 2) REEE 3) A= 4) &
201- EERT OIS, BEEZKERWVWES ( ) L,

1) Ffi 2) ik NEE 4) EEE
202- ZAOHEEORRIIEBD R TES TS,

DUH LD HTL kD

HLxrorAED HLErO2Lxd
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203- FEMIXEE LB RVOT, BZBRELTHL, #ET 5,
HES20A NDRELES NIFTAZE HiTAED
204- R0 LRDOEN I o,
) &z PAVIRVEESY i NE T HE o7
205- 2t UANVARR, BRLSTWO AR,
DA Th DA D 3N A A DAt <
HA3C{k & S (Japanese Culture and History)
;;"‘\
ey / \J{\ \“*{&
EEVE T 1Y S,
206- K=IROEMITERD, ‘,4{\& [\:\} -
L LY
N EHHE NEiobh A 3) J\ﬁﬁ%?%\ (\\fi)?%ﬁ
et ™, {“’ o3 -
207- ALY MTHRB A BiZ Ehs, ({g\bﬁ\ Y
1)8H&H 2)7H7H 3)9H9F A 4$6H6H
5 PR
208- [FPE] 1E7EhofEfr, \ z&f;/;, s
1) RS =) /EE%?“{% w 13) WA ik
209- @%?“%%%ﬂiﬁﬂﬂ_ﬁ%?& 2 7‘ﬂ @Qja
1) 19174 ~ i ?%68@ 3) 19454F 4) 18264F
\ et
210- —#o )\ Q}f’% OB REBTOREIS D 2 LR TE B,
J{“"’ 3y AL E e 1) E A E D A odn ks Y
\ﬁ : 2)E 4 3) A 4) Fer i v
A\ (\ \,jf‘jw
N e b
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256- Which tribe belongs to Angola? /\:\ ’ ‘\“ujfw/
1) Zulu 2) Fulani Az )%‘@Q‘{ ’ 4) Ovimbundu
257- Zambia gained its independence fromf:«’.,. b f}j ,fi £ivees.. in the mid-1960s.
1) Belgium 2) Britain S‘ ’Germany 4} Netherlands
258- What was the former name of Eswat n{

1) Dahomy — \ 1 Vf ‘f\\ }2) Abyssinia
3) Swaziland /f’m“ /T\‘* \ 4) Bechuanaland
259- Which party has beégﬂmg@t arty of Mozambique, since independence?
1) Frelimo
2) United Dem Cirati féﬁt
3) African dent Congress
4) Unj &efa\ agxa 1 Independence Party
260- T d\mw wtton of the Organization of African Unity in 2002 was mainly based on
ing factor:
A \?1 Lizeié of ability to bring peace, prosperity, security, and stability to Africa
\ ) Z} 'Weak power and inadequate influence to deal with the internal and external conflicts
“3) Incapability of confrontation with problems such as poor governance, human rights
abuses, poverty, and underdevelopment from which much of Africa suffered.
4) All of the above
261- Which countries in the Scuthern African region have experienced a coup d'état or
coup attempts since independence?
1) Eswatini, South Africa 2) Namibia, Mozambique
3) Zimbabwe, Lesotho 4) All of the above
262- Which part of Southern African literature is mostly based on proverbs and riddles, epic
narratives, oration and personal testimony, praise poetry and songs, chants and rituals,
stories, legends and folk tales?
1) Oral literature 2) Written Literature
3) Both oral and written literature equally 4) Mostly written literature

WWW . Sﬁﬁjﬁ sh3.com
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263- What percentage of Southern African region countries still adhere to African
traditional faiths?
1) %10 2) %30 3) %50 4} %80
264- What does syncretism mean among Southern African tribes?
1) A blending of Christianity and Islam
2) A blending of African traditional faiths and Islam
3) A blending of African traditional faiths and Christianity
4) A blending of African traditional faiths, Christianity and Islam
265- i are Southern Africa’s oldest continuously practiced art forms.
1) Mask and Sculpture
2) Metalwork and Painting
3) Rock paintings and Engravings
4) Pottery and Leathercrafts
266- Which of the following sentences is correct? f\é
1) Ethnic groups and African tribes have customs that are unique to thqrg Qujﬁv
The customs and traditions of each group have been woven into ;h“e\ f{&{l&\t}onal
textile as colorful and diverse as the people of Africa themsel&‘@s{
2) The rich and diverse Southern African Art and cuitum\?arxes otz@ngr from one
country to another but within each country as W 1.0 ﬂ} .

3) In all ethnic groups throughout Southern Afrzczg /Luf‘alz ci“iaracter:stlcs are of
the utmost importance and are reflected in the s \g /amf/ identity of cach tribe.
4) All of the sentences above are correct. (s \
267- Read the following passage and chooae’“ the"%ésﬁ aﬂs&er (1), (2), (3), or (4) based on
the content. \‘{ x/
After the end of WWII and at thergra&j‘u\%ﬁf“bégmnmg of the wave of independence

appealing in Africa, African pah % ad‘to decide what type of economic ideology
to implement for theaﬁ@na f& 6& m»shakv economies. After the independence
of many African co hu:les zm r/imﬁ West, and East, mainly in the 1950s and 1960s,
which continued u *te\th\‘e\ id-1980s, almost thirty-five of Africa's countries
adopted socrall ﬁwcialism as the economic system of their governments.
The }eaders 0 e«,gquntries believed that socialism would offer the best chance for
them to | ‘the many obstacles that these new states faced. Initially, African
1eader€ % iew, hybrid versions of socialism, known as African socialism, which
as el\s;(}med by so-called African left intellectuals. However, by the mid-1970s,
”“:e\(ér ifsfates turned to the more orthodox notion of socialism, known as scientific
4 \ngé\hsm, to make socialism more realistic and find a solution for their economic
\ k rhi{rdshlps However, from the beginning of the 1980s, African leaders who already
beheved in socialism and Marxism gradually turned to ecither capitalism or semi-
capitalism, though ideologically still didn't believe it.
What was the appeal of socialism in the African continent, in practice, and why

African governments eventually left it behind?

1) African leaders believed that socialism would help them achieve economic
development and reduce poverty, but it didn't happen.

2) Socialism has been seen as the best way to promote African nationalism and
reduce dependence on former colonial powers.

3) Socialism was successful in creating more equal societies by redistributing
wealth and resources and emphasizing self-reliance and the Africanization of
business and civil service.

4) All of the above

iﬁ) Q%ﬁmgé uwt}? w\ﬁgﬁm ﬁ..s;q..s:s_ﬁ »“,Stxi.) !M}A“}.s i‘ﬁlﬁ&
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268- Which historical civilizations belong to the Southern African region?

1) Maravi, Zulu 2) Axum, Ashanti
3) Nubia, Songhai 4) Carthage, Buganda
269~ .o is the southernmost country on the African continent, via this

position, it is controlling all of this strategic area, monitoring adjacent areas right
up to the South Pole, bordering the two world's largest oceans: the Indian Ocean to
the southeast and the Atlantic Ocean to the southwest.
1) South Africa 2) Botswana 3) Zimbabwe 4) Lesotho
270- Choose the correct sentence based on the content of the text:
Apartheid was a system of institutionalized racial segregation that existed in South
Africa from 1948 to the early 1990s. The Nationalist Party, which came to power in
1948, made apartheid a State policy and espoused the ideology that people of different
racial origins could not live together in equality and harmony. The system was
characterized by an authoritarian political culture, which ensured that South Africa
was dominated politically, socially, and economically through minoritarianism by the
nation’s dominant minority white population. Oppesition to apartheid that h gﬁ {%?
started since the official establishment of the Union of South Africa in 19} 211 éps
when the ruling Nationalist Party, effectively blocked all legal and non—mbe&i e‘ans of
political protest by non-whites. The African National Congress (AN/G) ap\d« s offshoot,
the Pan Africanist Congress (PAC), both of which envisiﬁyg A vas Sﬁtﬁﬁérent form of
government based on majority rule, were outlawed i 19 ail?i« 'y "of their leaders
were imprisoned. The most famous prisoner was ale d er\of the: A C, Nelson Mandela,
who had become a symbol of the anti-Apartheid stru f "ﬂw ffiternational community
began to take notice of the brutal}ty of the Apart&hg \z;égfmle after the South African
student massacre in Sharpev;lle in 1960. ”‘th& 1?,! 1970s, international grassroots
movements succeeded in pressuring W g@iﬂitrles into imposing economic and
cultural sanctions on the Apartheid. eg ),&f South Africa. Eventually, when Prime
Minister de Klerk agreed to dem @mt e ﬁons for the country, Nelson Mandela, the
charismatic leader of ANC, was (i*ee e{Lés yuth Africa’s first black president in April
1994, and the sad stom oTa v}léséi\was left in the memory of the Seuth African nation
forever. .
1) The Nationalist Pal;\y, ‘Much ruled South Africa during the Apartheid era, was
based on eq\df;ht é‘m@ng whites, Indians, and blacks.
2) The bla pé@ﬁ“e of South Africa did gam their freedom after a severe civil war
aga,ﬂ‘%gt\«, ﬁh’eid policies that began in the early 1900s and intensified in the
century
3\ l{kh@u‘gh the Apartheid system was cruel, the black majority of South Africans
Waq content with the status quo and didn't seek a fundamental change for the
\\ww “future of their country.
" 4) The majority of South Africans, mcluding blacks and Indians, eventually
succeeded in establishing a real democratic South Africa, free of discrimination
and segregation, after almost 50 years of peaceful resistance and struggle.

A Agodliw] S 3bj ) &S0 g U9 b
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271- Asagdakilerin hangisinde haber kipivle cekimlenmis bir fiil yoktur?
1) O, bu tiir sarkalari ¢cok sever.
2) Giinde en az bes saat ¢alisacaksin.
3) Bos kaldikc¢a dykiiler, siirler yaziyorum.
4) Gelecegiyle tlgili kararlar kendisi versin,

E N RN ;‘M}f}.ﬁj? sl g 43 god O R R maly
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272-

274-

275-

\\\

276-

Tramvay, Galata Kopriisii(I) iizerinden tarihi yarimadaya ge¢erek Sultanahmet’e
vardiginda sirasiyla iki farkh sehrin ¢ehresine sahit olan yeleu, burada bir miiddet
beklemek zorunda kalacak. Roma hipodromu(ll) olan At Meydam(I1l)cevresindeki
vaptlarm isiftisi karsisinda biiyiilenecek; fi¢ devrin mabedi bin bes yiiz yillik
Ayasofya Camisi, etrafi siisleyen Alman ¢esmesi{(IV) gibi amtlar gegidinin ortasmda
bas1 donecektir.

Bu parcada numaralanms sézlerin hangisinin yazim yanhstir?
Dl 211 3) 1 4 IV

Ogretmen olmanm, o kiigiiciik ¢ocuklarm hayatlarma dokunmanm benliginde
brraktig1 derin iz, zaman ilerledikce onu daha mutlu eder olmustu. Ogrencilerine
veni seyler 63retme hazzi, gecmisine olan 6zlemini coktan alip gotiirmiistii.

-
Bu parcada asagidaki ses olaylarindan hangisi? A j""‘“" \\\\\/7
1) Unsiiz diismesi 2) Unsiiz tiiremesi \‘
3) Unlii daralmasi 4) Unsiiz benzegmes)., k&

,r““‘““\\ f(\ \

I~ ~
(I) Halil inalaik’ diger tarihgilerden ayiwran i\@nqm!l L}l‘s slardan biri,
arastirmalarinda tarih disindaki beseri bilim éidlen fi"e\ %Xrlanmasxyd: {II)
Edebiyat, hukuk, sesyoiu;:, sosyal anfropologl, ikt %&t,‘lﬁ’l‘aﬂﬁ!yet ve s;yaset bilimi;
gen¢ vaslarda tanisti. Ankara Umvg:rs:/tes}l !@CWTal‘lh Cogmfya Fakiiltesi
biinyesinde yapilan smavi kazanarak bg\ qrm#i;aﬁ 6grencisi oldu. (IV) Daha sonra
Ankara Universitesi Hukuk Fakiilt sr’hé\ﬁLe kayit yaptirarak egitim hayati yogun
bir tempoda devam etti. / E\
ANV

Bu parcada numaraﬁéni’nw £l mieiﬂkﬂﬁ hangismde bir noktalama yanhs1 yapilmistir?
i 2“)\1“1\\\\“” 3H 1 41V

Hayatta ¢a s@(t;ﬂt hi“g korkmadlm ama vaslanmak zor is. Her giin yeniden
kurulan dmi?" v\aW iraz daha eskimis olarak uyamiveriyor kendi icinde insan.

f 1 y \J o
Bu \ﬁa Tg;lx olarak asafdakilerden hangisi?
\ sﬁ’ yitklem vardur. 2) Tezlik fiili kullanitmastir.
B\)Jﬁ}mden fiil yapan ek vardir. 4) Isim ve fiil cimleleri vardir,

Bu roman, okuruna ilk bakista cok keyfi, cok dagmik goriinebilir. Yazar — yazmus
gibi. Oysa bu dagmik goriiniislii malzeme -— bir sekilde toplanmis ve yapisal bir
biitiin meydana getirecek sekilde 6ritlmiis.

Bu parcada bos birakilan yerlere asagidakilerden hangisi sirasiyla getirilmelidir?
1) aklina geleni — titiz 2) talep edileni - bilingli
3) akisin getirdigini — ahenkli 4) kendinden bekleneni - tutarl:

LQ‘; emiﬁ kﬂ}?ﬁ))? w:‘zjgg,i.u %fk.:‘-ﬁm ;K_in_’ab %.}me @mba
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277- Fotograf makinesi 1839°da Fox Talbot tarafindan icat edildi. (I) Baslangicta
seckinlerin kullammmina acik olan cihaz; 30 vil gibi kisa bir siire sonra polis dosya
kayitlari, savas muhabirligi, aile albiimleri ve Kartpostallar icin kullamilmaya
baslandi. (JII) Kullanim alami hizla artan fotograf makinesinin halk icin ucuz
maliyetli iiretilen ilk 6rnegi, pazara 1888’de sitriildii. (IIT) Kullanim olanaklarmmn
bivlesine artmasi, fotograf makinesinin toplumu c¢ok derinden ve can alici bir
bicimde etkileyeceginin gostergesivdi. (IV) Fotografin, goriiniimlere giénderme
vapmada en baskin ve en dogal yol olmasy, sanayilesmenin sonuclarmm alinmaya
baslandig1 donemde gerceklesti. Fotograf, her seyi yakindan goren tanik olarak
diinyanin yerine o zaman gecti.

Bu parca iki paragrafa ayrilmak istense ikinci paragraf numaralanms ciimlelerin
hangisivle baslar?

Dl 2y 11 3) 11 HIvV
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278- Basarih olmak icin ¢ikfigin volda bir giziin baskalarmm ne vapng:ylg fﬂgr}\{ép wSe
hedefine ulasmak icin kullanabilecegin tek giziin kahr. - < \ \\ ‘\\:;
o . 5
P ™y ,fr\,_“,mf
Bu citmlede anlatilmak istenen asagidakilerden hangm&c}ﬁ?{ S:M 7
1) Kendi ¢aba ve ¢aligmalarina odaklanan kisiler,/Basariya-dahe) olay ulasir.
2) Insanlar kendi yeteneklerini kesfettikleri ve g¢ ig*ﬂ’?dtkler;/o ¢iide basaril olur.
3) Kisilerin  kendilerini bagkalariyla kiyaslar Im{ /kendilerini tanmalarin
engeller, \ o
4) Basaril1 olmak isteyen kisiler bagka@@m&{ﬁm&@ﬁsundugunn on plana koymalidir.
N
279- Insan; daha giiclii canhlara kﬁ\l;%\} 1t ]k basina kendini koruyamaz, tek basina
ihtiyaclarim kargifay?amaz dpafég\r;\slxia/blﬁ\‘@}ada yasamak tabii ve zaruridir.
‘t KW {\j
Bu ciimlede asagndaki Efeh\h,anglsl yoktur?
1) Yonelme durumuyla kulianz an edat 2) Uglincii cogul ivelik eki almig isim
3) Nlteleme\s{féh@ﬂi\tefeven zarf 4) Yeterlilik bildiren olumsuz fiil

e&? bi davranmasidir, (II) Kisi; bakmadigs, isitmedigi ve hepsinden once
\k; ilerin yaptiklariyla ilgilenmedigi havasim verecek bir tavir takumr. (III)
Zlemlemekten kendini ahkoyamayan bakslarm Kkarsilasmasi ise iletisim karmaya
'davettlr, insanlarn goziinde giriinmez kalma kararhhgmdan feragat etmeyi gerektirir.
~ (IV) Cogu zaman kalabalik olan sokaklarda sirf bir yerden baska bir yere gitmek bile
her seye dikkatle bakmay1, gozlemlemeyi gerektirir. Bu nedenle géz temasi kurulan
insanlar: rahatsiz ve tedirgin etmeden gizlemlemek gerekir, uygar kavitsizh@in 6zii de
budur.

280- () Uygjﬁ?\témhk, kisinin digeriyle gbz géze gelmekten kaginmasi veya onu hic fark

O\

Bu parcada numaralanmis ciimlelerin hangisi diisiincenin akisini bezmaktadir?

D1 M1 3) 11 41V
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281- Mondros Ateskes Antlasmasi’ndan sonra giriilen asagidaki gelismelerden hangisi
Osmanh Devleti’nin otoritesini Kaybettigine kanit gésterilemez?
1) Temsil Heyeti'nin olusturulmasi
2) Kuvai Millive birliklerinin kurulmasi
3) Mebuslar Meclisi’nin Istanbul’da toplanmas:
4) Bolgesel ve ulusal nitelikli kongrelerin toplanmasi

282- Diinya Savasi’nin galip devletleri ile maglup devletleri arasmda imzalanacak bans
antlasmalarmn kosullarint hazirlamak ve Osmanh Devleti’nin topraklarimiyeniden
paylasmak icin toplanan konferans asagidakilerden hangisidir?

1) Yalta Konferansi 2) Kahire Konferansi
3) Londra Konferans: 4) Paris Baris Konferansi /

farkh gruplardan biri degildir? o
1) Islahat Grubu 2) Misak-1 Milli G \u \J}

J "\.,.«

3) Istiklal Grubu 4) Mudafd&-ﬁﬂul\m j,m}rem
/ f\}\
284~ Asagidakilerden hangisi, harf Inkilabmm yaplimag . ﬁ‘;e olarak gisterilemez?
1) Arap harfleri kullaniminin laik devlet diizenin f engellemesi
2) Arap alfabesmin Tiirkce’nin yaﬂin}aﬂ ye 0 unggmiim zorlagtirmast
3) Arap hartlerinin ses yoniinden Tiirks uvmamam
4) Arap alfabesindeki sesh harfleri nye g Simast
. f\,«
285- Demokrat Partinin ,;timnon;g \@it}\%él vé& sosyal alandaki icraativla ilgili olarak
asagrdakilerden ha glsguya hs% i“‘if
1) DP doneminin ozemklé\ i\llgfyarismdakl en 6nemli gelisme ve degisme ekonomik
alanda yasan 1§t1r§\
2) Turkiye, Y L}j‘?f kadar bugday ithalat¢isiyken 1954°te diinyanin dordiincii
bugday ra 1s1 olmustur.
3) Ikﬁm}@iﬂ}l dzarlara daha kolay ulasabilmesi i¢in ulagim imkéanlarina, 6zellikle
imina dnem verilmistir.
X@ Mylunun onemli Olgiide para kazanmasi {izerine kentten kirsala gb¢ bu

/donemde ciddi artis gOstermistir.

ﬁ\ff\j {i\l\ﬁ
283- Asagidakilerden hangisi Birinci TBMM’de anayasa calismalan bo AQQ sﬁfn
X_Mz\,
e

286- I1. Diinya Savas: yillarinda Tiirkiye ekonomiyi ve fiyatlar: denetim altina almak i¢in
asagidaki kanunlardan hangisi ctkarmigtir?
1) Milli Korumma Kanunu 2) Tiirk Medeni Kanunu

3) Kabotaj Kanunu 4) Soyadi Kanunu

287- Tiirkiye, NATO’ ya hangi vil iiye olmustur?
1) 1952 2) 1942 3) 1944 43 1939

288- Il Diinya Savas: villar ile ilgili olarak asagidakilerden hangisi yanhistir?
1) Savunma masraflar bir hayli artmistir.
2) Mal ve hizmetlerin fivatlar ciddi oranda diismiistiir.
3) Masraflarin karsilanabilmesi icin para basma yoluna gidilmistir.
4) Savas basladiginda Tirkiye, yaklagik bir milyon askeri silahaltina almaistir.

E’.% ﬁi.ft:mugé ;‘Jﬁﬂ.@)"{ ‘_,,.,}:}E}m ﬂqw ».,iiiﬁ k}‘&.}"} {2‘0&;\
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289- 1950°deki hitkiimet degisikligi ile ilgili olarak asagidakilerden hangisi yanhstir?
1) Milli bir ticaret ve sanayi burjuvazisinin dogmasi engellenmistir.
2) Sivaset, seckinler ugrasi olmaktan ¢ikarak genis halk kitlelerine ulasmastir.
3) Siyaset, o tarihe kadarki anlayistan farklhi olarak halka dayanmaya baslamistir.
4) Halka dayali sivaset, biirokratik baskici deviet geleneginin vumusamasina neden
olmustur.

290- Birinci Diinya Savasi ile ikinci Diinya Savasi arasinda Tiirkiye niifus mitbadelesi
sorunu hangi iilkeyle yasamstir?

1) Tran 2) Rusya 3) Yunanistan 4) Bulgaristan
Hgoad& b ) s 221 ) U
291- When did the first phase of the Israeli-Palestinian Conflict end? ) ,r"\z?\,\_g?
1) The Israeli invasion of Lebanon ~ 4 i‘jf\a\ H\\\;f
2) The invasion of Israel by neighbouring armies ; o },\}, v
3) The establishment of Isracl in Palestine and the nakba«m 194/%”\ :f, J
4) The establishment of a Palestinian government in thé ;est B@ﬂkf -
292- Which document helped to facilitate Jewish immi g‘%tlon ajéstme"
1) The Treaty of Sevres 2)T e\ Y hdﬁn Agreement
3) The Balfour Declaration 4) 11 h k{‘ \éST{lcot Agreement
293- Where did most of the Jews from the fj{st al&gd*s rom?
1) Eastern Europe and America )/ iSSla and Rumania
3) Germany and Italy ~ \\S <ZL§ France and Poland

294- What was the purpose of the Law R fpr}l assed by the Israeli parliament in 19507
1) It granted the ri gl}tv@}f mt,@g;é: shipitd allJews around the world.
2) It made state poi @x the gre} /ot the West Bank to the Jewish state.
3) It allowed for the ‘all Palestinians who fled during the nakba.
4) It encouragedhJewsargund the world to make a pilgrimage to Jerusalem.

295- Who was tpeﬂbmﬁm?e leader of the PLO and the first president of the Palestinian
Authonty\ \ \JJ

1) Khélg M&sflal 2) Yasser Arafat
f i:n‘a t-41aniyeh 4) Shaikh Ahmad Yasin
29\6 gzre and when was the first Zionist Congress held?
b /Basel, 1896 2) New York, 1896
“./3) Bern, 1897 4) Petrograd, 1897
297- How many Jewish “settlers” have been living illegally on Occupied Palestinian lands
after the Oslo Accord?
1) 150,000 2) 250,000
3) 350,000 4) over 750,000

298- Which state in the Middle East has got more than 200 nuclear weapons and has
threatened the Palestinians to use an atomic bomb in Gaza?

1) France 2) Egypt 3) Israel 4y USA
299- What does Resolution 194, reaffirmed over 100 times by the UN, say?
D) It confirms Right of Return for Palestinian refugees from Jordan.
2) The Israelis refused to accept more than 100,000 refugees.
3) The resolution has not been accepted and implemented by both sides.
4) The resolution upholds refugees’ rights to return to their homes, to property
restitution and to compensation.

wiww . Sanjeshl .com
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300- As the Occupying Power of the Gaza Strip and other parts of Palestine, ............. .
1) Israel respects all international laws
2) Israel has no duty to improve their ability
3) Israel is responsible for the well-being of the occupied Palestinians
4) Israel is responsible for ensuring the basic food, health, and education needs of
the Palestinian population
301- When did the Great Arab Revolt in Palestine start?
1) 1936 2) 1948 3) 1987 432000
302- Why did the Arab League expel Egypt in 1979?
1) Because Egypt. led by President Sadat, signed a peace agreement with Israel in 1978
2) Because Egypt attacked the Palestinian territory in 1977
3) Because Egypt invaded Israel in 1973
4) Because Egypt refused to accept Palestinian refugees
303- The 2018 Nation-State Bill passed by the Isreali parliament consist of a g}f t\l}g
following EXCEPT .......cvuuvnenene. ( w N
1) The state views the Jewish Settlements as a national value and lf&fﬂ Pg fote
its establishment.
2) The unified and complete city of Jerusalem is the c@ﬁa\l of }f

3) Israel is the historic homeland of the Jewish pe 0\ 0
4} Israel has accepted the two-state solution. \j”\\ _ﬂw;,.
304- Israel annexes Golan Heights, in ...ccvevnviennnn. . f\\ tjjr“ -
1) 1978 2) 1981 A I 8 > 4y 1991
305- The terrorist organization named Hagﬁaaﬁ\Waéfff}unded | o .
1) Yitzhak Rabin, 1948 {; \\;fﬁ} Z¢’ev Jabotinsky, 1920
3) Moshe Dayan, 1967 ”W\‘ J 4) Theodor Herzl, 1896
\{‘\%.N‘& 3 _\w/
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